Multiply by 102 (])

Find each product.

93 x 10% = 87 x 10% =
54 x 10% = 39 x 10% =
1x10%= 48 x 10% =
5X% 10% = 53 X 10% =
90 x 10% = 36 X 10% =
52 X 10% = 22 X 10% =
5% 10%= 36 X 10% =
13 x 10% = 53 x 10% =
47 x 10% = 27 X 102 =
86 x 10% = 43 x 10% =
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Multiply by 102 (]J) Answers

93 x 10%=9,300

54 x 10%> = 5,400

1x10*=100

5x 10* =500

90 x 10> =9,000

52 X 10% = 5,200

5x 102 =500

13 x 10* = 1,300

47 x 10* = 4,700

86 x 10 = 8,600

Find each product.

87 x 10% = 8,700

39 x 10% = 3,900

48 x 10% = 4,800

53 X 102 = 5,300

36 x 10% = 3,600

22 x 10% = 2,200

36 x 10% = 3,600

53 x 10 = 5,300

27 x 10> = 2,700

43 x 10% = 4,300
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